S l G MA Spur Gear Specifications

Focus Ring Iris Ring
AIZU PRlME 65mm T] 3 LF Number of teeth 128 124
Module 0.8 0.8
PL Mount
P.C.D 102.4mm 99.2mm
Angular rotation 270° 70°

125 17
8.1 66.5
SE-61 5.4 30.3

2x[M3x8] \
- *:ﬁ,;‘* |
— &.=
~ 9.€ ;]

=g

" 1]
VYY)

]

]
AL

=T,Z

=
=
=
=
=
=
—

3,,2 FRONT
DIAMETER

= 11,2 95 mm

AlZU =

PRHME Gﬂz T——= 46.3mm
. = | i

Oopiey —
-_— - -_—

QAZ —
TI.3 5.2 = |30

=¥,¢ === 2@vj

$95
|

120

L ¢,7 15'<
e | 12"

Ne—
“e 10°=

SIGMA

68

1.z il
—.z G.Z'Zjl
- | | ==T
SF-61

2x[M3x8] A i
144 3/8

UNC1/4-20 —
UNC3/8-16 — | 14.2 80.4

29 72.6

par
-o—

/mm
scale 1:1

Ver11 July 2025 ©2025 Sigma Corporation



S l G MA Spur Gear Specifications

Focus Ring Iris Ring
umber of tee 28 2
AlZU PRIME 65mm T1.3 LF tumberofteen ‘ =
Module 0.8 0.8
Sony E-mount
P.C.D 102.4mm 99.2mm
Angular rotation 270° 70°

159 5.2
8.1 100.5
SF-61 54, 64.3
2x[M3x8] —\
> | —
— S, ;EEE
9.5 —
o = ,g % §
=27, = E .
=€ e |
:ELZ 95 mm E .=
AlZU = 0L.¢ IMAGE =
PRIME 62 == 4326 mm
8 = | ft T |
0 LT =
I — o e e
© 92 = o
— 2 N
Tﬂog s.ic = 3’)@"1 |
—— o — ,.82 i
P = | 4= =
—¢,2 15'5 == it
SIGMA 12 =IrE
=<2 |y 10°— E g :
o L N 9'= = (113
L2 poll = E
=z P A 2
SF-61
2x[M3x8]
114 3/8
UNC 1/4-20 1
16 — L |
UNC 3/8-16 | 142 114.4
T T
29 106.6 /mm
scale 1:1

Ver11 July 2025 ©2025 Sigma Corporation



